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The force of interaction between two atoms
- M
I?_

okt )

: where x

is given by F=apexp {

is the distance, k is the Boltzmann constant
and T is temperature and « and [ are two
constants. The dimension of j3 is :
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A particle is moving along a circular path
with a constant speed of 10 ms I What is
the magnitude of the change in velocity of
the particle, when it moves through an
angle of 60° around the centre of the
circle ?

Options:
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41652936048 1082 m/s

41652936049, 10 M/S
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A body is projected at t=0 watlva velocity
10 ms—1 at an angle rﬁg * with/the
horizontal. The radius ofCurvature of its
trajectory at t=1s is R. Neglecting air
resistance and taking aceeleration due to
gravity g =10 ms 2 the value of Ris

Options:

>
41652936050, 22 M

41652936051, 9-1 m

41652936052, 28 m

41652936053, 103 M
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41652936050, 220 M

41652936051, 9-1 m

41652936052, 28 m

41652936053, 103 m
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A liquid of density p is coming outof a hose
pipe of radius a with horizontal speed v and
hits a mesh. 50% of the liquid passes
through the mesh unaffected. 25% looses
all of its momentum and 25% comes back
with the same speed. The resultant
pressure on the mesh will be :

Options: ®
3 SK&Q
—np- 0d)
1! N
41652936054, Q&
N
| N\
1,
— P
41652936055, 2
. 3
(i

2
41652936056, 4

a
po=

416525836057,

Question Number : 4 Question Id : 4165299149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

o T 1 29 a 5= 9 9 Y § 1 Afaw
=16 ¢ F el 181 T 3R U el | 2 ¢ |
50% 24 W § SAYHiad faee = €, 25%
29 F HA I B FW T a4 25% =9 ST
=16l | 919 1 A6 €1 We W Uit 5E

n

1 |
Options:
1
1 pIJ"
41652356054,
1
Epﬂ"
4168529336055,
3

F}
41652936056, 4

po2
41652936057,

Question Number : 5 Question Id : 4165299150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A body of mass 1 kg falls freely from a
height of 100 m, on a platform of mass 3 kg
which is mounted on a spring havi
spring constant k=1.25x 10° N/ m\&
body sticks to the plat_f orm and th 113"-3
maximum cmnpre%mn is fou 0 bf:- x
Given that g =10 ms 2 the @D of x-will
be close to:

Options:
41652936058, 2cm

41652936059, OCM

41652936060, 40 cm

415525936061,
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41652936060, 40 cm

41852936061,
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A slab is subjected to two forces F; and
=3

Es of same magnitude F as shown in the

g
figure. Force F; is in XY-plane whil @e
F, acts along z-axis at th@ oint

T =y - Q>
21 +3j |. The moment @ese forces

3 / @
about point O will be :
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An equilateral triangle ABC is cut from a
thin solid sheet of wood. (See figure) D, E
and F are the mid-points of its sides as
shown and G is the centre of the triangle.
The moment of inertia of the triangle about
an axis passing through G and
perpendicular to the plane of the triangle
is I;. If the smaller triangle DEF is removed
from ABC, the moment of inertia of the
remaining figure about the same axis is L.

Then :
A
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A satellite is revolving in a circular orbit at
a height h from the earth surface, such that
h<<R where R is the radius of the earth.
Assuming that the effect of earth’s
atmosphere canbe neglected the minimum
increase in the speed required so that the
satellite could escape from the gravitational
field of earth is :

Options:

R
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Ice at —20°C is added to 50 g of water at
40°C. When the temperature of the mixture
reaches ('C, it is found that 20 g of ice is
still unmelted. The amount of ice added to
the water was close to
( Specific heat of water=4.2 ]/g/°C
Specific heat of Ice=21]/g/"C
Heat of fusion of water at0"C=334]/g )

Options:

41652936074 OV 8

41652936075, 208

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

41652936078, 20 8

41652936077, 1008
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41652936074, OV 8
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A rigid diatomic ideal gas (b}g_nes an
adiabatic process at room t erature. The
relation between temperature and volume
for this process is TV*=constant, then x is:

Options:
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A gas mixture consists 0f 3 moles of Q@

and 5 moles of argon at tempc-r
Considering only translat I and
rotaional modes, the tnta.[ i @ml energy
of the system is :

Options:
41652936052, 4RT

41652936083, 12 RT
41652936084, 15 RT

2
41552336085, LR

Question Number : 11 Question Id : 4165299156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

™ % uF f{gu H Ay & 3 9 a9
AMFAH5 HA AT T W E | Faed T
AR U T3 519 1 T B FA A0S
7 A

Options:

41652936082, +RT

41652936083, 12 RT
41652936084, 15 RT

2
41552326085, AR
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A particle undergoing simple harmonic
motion has time dependent displacement

it
given by x(t) = &qm% . The ratio of kinetic

to potential energy of this particle at
t=210s will be :

Options:
41652936086, 1 N
\Q
41652936087, §§S$
Q§>
- N
416529360858, 9 N\
41652936089,
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Options:

41652936086, 1
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Equation of travelling wave on a stretched
string of linear density 5 g/m is
iy =0.03 sin(450 t —9x) where distance and
time are measured in SI units. The tension
in the string is :

Options:
41652936000, O N

=

41652036001, /2 N

41652936092, 10N

2
4155259368053, 125N

Q
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T A R O
y=0.03 sin(450 t—9x) W&l gLl @i 94
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Options:

41652936090, O N

41652936001, /2 N

41652936092, 10N

2
41552326033, 125N
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In the figure shown below, the charge on

the left plate of the 10 pF capacitor is

30 pnC. The charge on the right plate of
the 6 pF capacitor is :
| |

_,-*"'#'. | lﬁ |_LF "mh_..
=< i
T [

Options:

41652936004, +18 pC
41652936095, 18 pC

41652936005, T 12 pC

41652936097, — 12 pC
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femard 74 f99 9 10 uF F 99ifE =1 =911 =52
T 30 uC AN E | 6 uF F Heia 1 a7t
2 T SAE BT

.-"'"..-
g
e
.,

10pF - | g@’ 2 E

Options: Q

Q
41652936094, +18 pC @$
41652936095, — 18 pC

41852936006, T12 pC

41652936097, — 12 pC
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Three charges Q, +qand + qare placed at
the vertices of a right-angle isosceles
triangle as shown below. The net
electrostatic energy of the configuration is
zero, if the value of Qs :

Q

+tq +q

Options:

. >
41652936008, 1 V2

41652936099, V241
41652936100, ~ 29

I
41552326101, 9
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e T FHFHVIE JHGAE B9 3 qz
dH &9 Q, +q A +q Iﬁi'ﬁé%
o= =t F fogedfas

QHAAE : N
Q
Tq +q
Options:.
q

41652936098, 1 V2

41652936099, V241

41652936100, 29
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I
416525936101, 1
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The given graph shows variation (with
distance r from centre) of :

4 o) .
I‘I / Ihl| rl'
| c/ rf_" | !
-\\ F.X_.—'". i \\-\h..
r, T
Options:

Potential of a uniformly charged
41652936102, Spherical shell

Potential of a uniformly charged
41652936103, sphere

Electric field of a uniformly charged
41652935104 Spherical shell

Electric field of a unif ormly charged

41852936105, Sphere
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Two equal resistances when connected in
series to a battery, consume electric power
of 60 W. If these resistances are now
connected in parallel combination to the
same battery, the electric power consumed
will be:

Options:

41652936106, B0 W

41652936107, 240 W

41652936108, 120 W

41652936109, 30 W
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a1 =rER Wiehisl 1 " quiws § UF a9
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Options: ,®
41652936106, 60 W §Q®
V)
S
41652936107, 240 W N

41652936108, 120 W

AT
4165259236109, O W
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In a Wheatstone bridge(see fig.),
Resistances PP and Q are approximately
equal. When R=400 (2, the bridge is
balanced. On interchanging P and Q, the
value of R, for balance, is 405 (}. The value
of X isclose to:

Options:

41652936110, 201.5 ohm

41652936111, 204.5 ohm

41652936112, 025 ohm

41652036113, 203.5 ohm
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TF =eEE 0y H (ﬁﬂ&ﬁﬁ?@@mﬂpﬂm
Q T AR T W@ R0 O 2 drHg
Hafead g1 P a9 Q F1 WER Fea W, Uq FI
Haferd wad & for R =1 gFr405. Q0 %1 X &1
HfAFz 7 B0

Options:

41652936110, 201.5 ohm
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41652036111, 104.5 ochm

41652936112, 025 ohm

41652936113, 4035 ohm
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In an experiment, electrons are accelerated,
from rest, by applying a voltage of 500 V.
Calculate the radius of the path if a

magnetic field 100 mT is then applied.
[Charge of the electron=1.6x 10 s 5
Mass of the electron=9.1 x 10~ ! kg]

Options:
41652936114, /-0 M

A |
41652936115, /2 *x107“m

Loy F _.1
41652936118 /-2 %107 m

3
e .4
41650036117, /2 <107 m
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T 94 | Seiged # farm I 500V
Aees] AME @A F © WYY L
Fifsru afe e T g 45 100mT 2
(SeTEe[ W SAEV=1.6 x 107 19.C so/ae A 1
FHF=9.1x10"3 kg)

Options:

41652936114, /-0 M

2
41652936115, /2 *x107“m

L __ _.1
41652936116, /-2 X107 m

3
o K
418529368117, R
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There are two long co-axial solenoids of
same length [. The inner and outer coils
have radii r and ry and number of turns
perunit length n 1 and n,, respectively. The
ratio of mutual inductance to the self-
inductance of the inner-coil is :

Options:
112
n
41652936118, |
na bz
2z
n
41652936119, 1 T
2 5

41652936120 |

416525936121,

Question Number : 20 Question Id : 4165299165 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

THME TS | o &1 oral JH- S g
%t:ﬂFﬁﬁaﬂyiaﬁagﬂmﬂﬁﬂﬁaﬁfiﬁﬁﬁ§§§&
r, TN, # S A T g W 3 e

FH: n, T n, & | AR F =
ﬁr$ﬁiﬂa¥¥a§mmﬁiaﬂaﬁggﬁ%hn:
Options:

112
41652936118, ™

o @2

2

n
41652036119, ¢

N, 1
41652936120, M T2

ny

ny
41652936121,
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In the circuit shown,
R L

AAN——TT

-

T

-

£
the switch S | I8 closed at ime t=0and the
switch 52 is kept open. At some later
time(t,), the switch S, is opened and 5, is
closed. The behaviour of the currentl as a
function of time ‘t" is given by :

Options:
I4
R "
41652936122, o t
I 4 i
7
[ AN §®
)N N
i '-§;¢
41652936123, e AT
Q§§
TORERNY
)
Y N .
41652936124, to t
I4
—
b
Fal 1 ™
/ LN\
/ ! N
t, t
41652936125,
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T uigy = fre fag | femm mn ®

R L
A STIIR
-5
5
1 -
i
£

t=0 W f@== 5, 9% T 54t f@= s, |gan
T 2| Tt 79 (1) F TeEm = s, g
THRS, TR | TR 1 H F9F v F Wy I

THy o =1 9% 2
Options:
14
A
/" i ?
41652936122, to t
| 4 i
A%
[ :
| o
e
L~
41652936123, t, g&@&Q
T4 &
N
\@\
PN
: e
X\,
41652936124, ty t
14
Y
LN
P PN
/ i \
d : \-\. ll_.
t, t
41652936125,
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An electromagnetic wave of intensity
50 Wm 2 enters in a medium of refractive
index ‘n’ without any loss. The ratioof the
magnitudes of electric fields, and the ratio
of the magnitudes of magnetic fields of the
wave before and after entering into the
medium are respectively, given by :

Options:

415523936126,

416525936127,

416525936128,

418529368129,
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50 Wm ~ 2 g &1 Uk Ta2q T =®E a8 ‘n’
AYFEAF o UF Ay H T fa?ﬂ'i\ ED
A A | s
T avETq foEd &= & W’W@ THH I
&1 1 S FHEI T @$

Options:

416525936126,

416852936127,

4165258236128,

416525836129,
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An object is at a distance of 20 m from a
convex lens of focal length 0.3 m. The lens

forms an image of the object. If the object

moves away from the lens at a speed of

5 m/s, the speed and direction of the image

will be :
Options:

41652936130, 226%10 3 m/s away from the lens

41652935131 1.16x10 3 m,/'s towards the lens

41652926132 3.22x 102 m/s towards the lens

3 T T
T 0.92x107° m/s away from the lens
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0.3 m Fd T F UF IOc o9 J HE 95
20 m F T W1 o9 5 T5 H iara
TR | A TR T T T W5 m/s F1 =
Y It & o wfafar 6t = 23w fawm 2

Options:

ﬁé\'\\
L ; ™
41652936130, 201077 m/s, 5&55‘%{

| SR ¢
41652936131 1-16%10 ”&@Fﬁqﬁ v

i 3 3
41652936130 322%1073 m/s ORI 1 AR

092x10 3 mfs, o7 T T
41652936135,
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Single Line Question Option : No Option Orientation : Vertical
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In a Young's double slit experiment, the

path difference, at a certain point on the
screen, between two interfering waves is

1
gth of wavelength. The ratio of the

intensity at this point to that at the centre
of a bright fringe is close to :

Options:
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41652936134, 0.74

41652936135, 0.80
41652936136, 0.85

41652936137, 094
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=T % Tg—Torl W H, 98 % U famg W =afasm
= a1 r mE d 1

FTH T < T H IR WS H & T

21 39 forg W digar 991 < e & F2 W

Arean 1 AT TR B

Options:
41652936134, 0.74

41652936135, 0.80
41652936136, 0.85

41652936137, 094
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Correct Marks: 4 Wrong Marks: 1
[f the deBroglie wavelengt ari electrcrn
is equal to 10 3 imes th{%% velengthof a
photon of frequency 6 x 104 Hz, then the
speed of electron is equal to:
(Speed of light=3x 10° im/s
Planck’s constant =6.63 x 107 3] s
Mass of electron=19.1 % 10 31 kg)

Options:
41652036138, 1.8x10°m/s

41652936139, 145x10°m/s

41652936140, 1.1x10°m/s

41652036141, 1.7 % 10°m/s
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Correct Marks: 4 WrongMarks: 1

T S F - Te 6 x 101 Hz
Agfa F M F T F10-3 L A
Sﬁﬂgﬁﬁﬂ!ﬂ@‘ﬁ:

(femn & warrer =6t =1 =3 10° m/s

ik AT =6.63 <10~ 3] 5
SeERA 1 EAE =9.1x10 31 kg)
Options:

41652936138 1.8x10° m/s

41652036139, 145%x10°m/s
41652936140, 1.1x10°m/s

41652936141, 1.7 %10°m/s

Question Number : 26 Question Id : 4165299171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A hydrogen atom, initially in the ground
state is excited by absorbing a photon of
wavelength 980A. The radius of the atom
in the excited state, in terms of Bohr radius

ag, will be : )

(hc=12500 eV-A) Q
Options: S&&Q
41652936142, 4ag (&\Q’

N
QQ
41652936143, Jag @

41652936144, 10%

]
41650936145, %0
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AR el 7T H B5ereE T 980A
TOTS = I FGWIGG 2 SArad 8l Sl
21 59 sufad = & wan w1 B

ar 5= a, & WEF | B0
(hc=12500 eV-A)
Options:
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4.
41652936142, 20

9:{“
41552935143,

41652936144, 103

'j- 3
41652936145, %0
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In the given circuit the current through
Zener Diode is close to :

V
|
[

.
i "’*1;::513{1 0
o I 7 1
Rz%‘l 500 €2 /.l_- V,=10 v%i: R,

2
1|1

Options:
41652936146, 0.7 mA

41652936147, 0 mA

41652936145, 0.0 mA

41652036149, OV mMA gﬁ\

N
Question Number : 27 Question Id ; 99172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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foir 4 qfiuy 4 S S YR A

HE &
R LA
= 15500
= ]
o= J " ‘_L
R;£1500 0 /Jr V,=10 V=R,
]
Options:

41652936146, 0.7 mA

41652936147, 0 mA

416529361458, 0.0 mA
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41652036149, OV mMA
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Anamplitude modulated signalis given by
V(t)=10[1 + 0.3cos(2.2 x If]‘lt]]sin{S.S 3 1[]5t].
Here t is in seconds. The sideband
frequencies (in kHz) are, [Given w=22/7]
Options: . _
41652936150, 8925 and 857.5

41652925151 85925 and 85.75

41652936153, 1789 and 1715
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U A Higfed fare feag femn T @
V(1) =10[1 +0.3cos(2.2 x 10%t)]sin(5.5 x 10°t)
Tt HEUE H T NS Gve H g
(kHz ®) & : [fem & =22/7] Q

Q
Options: %gg\
siespaagisy 8925 TME575 o
N
N\
41652936151, 52-2 = 85335
siesoong e 1785 TMIZLS

41652936153, 1785 @4 1715
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The variation of refractive index of a crown
glass thin prism with wavelength of the
incident light is shown. Which of the
following graphs is the correct one, if D,
is the angle of minimum deviation ?

1535 1
L1,
1.530 1 ¢
1525 1 \\
1520 1
1‘“&._
1515 1 ey
1510 +——+———+——+——+—\ (nm)
400 500 600 700
Options:
Dm
.\1
e
\\K‘h..
I » A (nm)
41652926154 400 500 600 700
DTI‘I
&
TN
41652936155, 400 500 600.700
D[l‘t
7
r,-“
R g o >\ (nm)
41650936156, 400 500 600 700
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D

> A (nm)

41652936157, 400 500 600 700
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FEA F19 F 0 F ATFAF TadT #
Ao WehTe i oo & 91y femm T
Az D, A foraed wm & @ fr 3 2 9

| U el 8 7
1.335 t
Ny
1530 1 1
1525 1 \
1.52[] T \\
‘-H'*x.
1515 1 ~,
1.510 ————+—————\ (nm)
400 500 600 700
Options: K\QQ
B §z§
\Q‘Z}
NS
\\‘§
N
v
i » N (nm)
41652926154 400 500 600 700
Dm
.-"Jf.l:
e » A (nm)
41652936155, 400 500 600 700
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m
//-{"-'.
: : : : - {1"[1‘1’[}
41657926156, 400 500 600 700
Dy,
Mo
T D » A (nm)
41652926157, 400 500 600 F00
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Correct Marks: 4 Wrong Marks: 1
The resistance of the meter bridge AB in
given figure is 4 {}. With a cell of emf
£=0.5 V and rheostat resistance R =2 ()
the null point is obtained at some point J.
When the cell is replaced by another o f
emf £= g, the same null point ] is fog& for
&

Rh= 6 (). The emf £y is, : 6
£ \Q(b'
! S
B RN
.\_“_./I
A B : B
J
Options:

41652936158, 0.3V
41652936159, 0.5V
41652936160, 04V

0.6 V
416525936161,
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T T uftgy § HizT U AB T Ufaig 4 Q B
faanad e=05 V 991 9m1 = F afaly
R, =20 F oy fag) mura s 2| 5=
WIAF AT e =, T AT FoA 20 &
AR, = 6 Q & T3 3= fag T | X foeran
%[ a9 EE@W:

E
||
|I

Options:
41652¢36158. 03V

41652936159, 0.5V

41652936160, 04V

0.6V Q
41652936161, %Q
S
Q\Q
@$
Zhermistry
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Among the following compounds, which
one is found in RNA ?

Options:
0
I
ﬂ' NH
41652836162 H
o
“a]xl,J“x @)
41652936163 H
i
Ha.
CHy U TIiH
|
41652936164 H
Q
ﬁHM_
“ TL] Me
41652936165, Me Q
K&Q
S
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frfafiaa Fifel § 9 +F @1 T RNA H

T T & ?
Options:
0
A
H’ : ™NH
i
41652836162 H
o
L
x]lr] 0
41652936163 H
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41652936164, H

41E525936165.
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The polymer obtained from the following
reactions 1s :

(i) NaNO,/H,O +

NH,_ ¥/ ™
(ii) polymerisation

HOOC "

Options:

i
OC (CHy),
41652936166, H

41652936167, Q§> x
$
i
n
41652936168,
O
|| H
C—(CHy)s—N
n
41652936169,
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Frafafag afafmnedi I 9w 29 9o 9gas

T
(i) NaNO,/H;0 +
T TR T NH2
HEOL (ii) ag Tl
Options:

i
ol AR
41652936166, H
0 T n
HNC (CH,),—C—N
41652936167, a
0
O—(CH);—C
n
41652936168,
O
| H
C—(CH,);—N
n

Question Number : 33 Question Id : 41652991 ;@S&Sjestlon Type: MCQ Option Shuffling : Yes Display Question Number : Yes

416525936169,

Single Line Question Option : No Option Orj ion : Vertical
Correct Marks: 4 WrongMarks: 1

The major product of the f Dﬂ@mg redction
is

_f_;:-*-"H--TCDCH:a (i) KMnQ,/KOH, A
| (i) HsSO, (dil)

CH;
Options:
T J/CDCDDII

g
'\-\.\.

416529326170, HGDC
/fa }/L’EDDI |
41E52935171. HOOC
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. COOH

Sy -
e

e

416525936172, OHC

e,

41652936173, HOOC
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ﬁqﬁf@ﬁﬁqﬁmmq@w%:" -

.._f.f.:-*-:"'“--TCDCH:a (i) KMnO,/KOH, A
*
_|. (ii) H,SO, ()

—ce ,
e

CHy
Options:

Py J/cocmn

g

o

4165259236170, S

]/L’EDDI |

41652936171 §z§
&

416525936172,

g

41652936173, HOOC
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The major product of the following reaction

15 :
OH
= .HIJ Bry (excess)
=
SO;H
Options:
41652936174, SO,;H
COH
41652936175, SO5H
OH
.f:i*J"'H.
] Q
Hrjﬁ.#-*" Br gﬁ&g
B ¥
41652836176, d Q>
W
QQ
OR>
41652936177, Br

Question Number : 34 Question Id : 4165299179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Frefarfaa sifufra =1 g= s &

fIC'IH

e e

=

"
“ Br, {anférrr)
—

SO, H
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Options:

4165258236174,
41552936175,

41652936176, Br

H

O
I;F\i'mr
Br
41652936177, %QQ
S
>
Question Number : 35 Question Id :pg@%mo Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Br

Single Line Question Option : No Optigh*Orientation :-Vertical
Correct Marks: 4 Wrong Marks:

The major product of the following reaction

is:

Cl
/N (i) HBr

' »>
\ /(i) alc. KOH
O
Options:

OH
.r"r.lr l‘.-"‘-._

&'\ ;fi;i;
{_.-’;" A

41652936178, O
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a
4 /7
) ‘::j"'
/y -
41652936179, O
/TN
o, i
"\:'\_ _r'f-'r
>/
41652936180, OH
Cl
e
.-'"r l""-.
S X
{ Y
\ I-Ir-"
41652036181, O
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Freferfan sAfufEma = g s9e ©
]
N .
I_;- "::\1 {l} HBr
Y *
\ /(i) alc. KOH
& N
Options: S&&
QOH Q
S
/ A N)
N\ /
_,.-";' A
41652036178, ©
Cl
D
.r"r '\"‘-\
{:"- .r":"l:l
b _::_r-
/I\/ A
41652936179, O
,f'f W‘a
{{.\_ _,-IZ'
by A
W 4

41652936180, OH
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415525936181,
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Which compound (s) out of the following
is/ are not aromatic ?

:-b *-.EEE;- H-‘Ej— e B
(A) (B) (©) (D)
Options:

416525936182, (B)

41652936183, (A) and (C)

41652936154, (B) (C) and (D)

41652936185, (&) and (D)

\\Q®
Question Number : 36 Question Id : 416529 @Queﬂion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option tation Vertical

Correct Marks: 4 WrongMarks: 1 @

o m w Q ™
Frefafas § 4 FF /4 ?%’rm TmAfew @
B/E?
Y O30

N\ / ’\ ,»';; al |

r}+{-: \\f_ﬁ: " ‘}il.__, H__H...___.-

(A) (B) © (D)

Options:

415523926182, (®)

416525936183, (4) L)

41650936184 B) (© T (D)
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(C) w= (D)

416525936185,
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The major product of the following reaction

15
i
-_'_'-';H.\_H - -.\_‘HDEt (1] NIKHE :
[.;m [ ~CN (ii) DIBAL—H
Options:
H

41652936186, =

41852936187, X~

41652936188,
N
Ao D
([
I H'H.,v,-""-'. = %)
41652936189, N\
S

Question Number : 37 Question Id : 4165299182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks:1
e sAfaferan F 9 ST g S ¥
O
h

copt ONi/H,
cn (i) DIBAL—H

Options:

-

L O
S i e IR
415523926186, R
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41652936187, & 7

41B8529361885.

4165259236189,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct match between items 1 and 11
15 :

Item -1 Item - 11
(Mixture) (Seperation method)
(A) H,O:Sugar (P) Sublimation
(B) H,O: Aniline (Q) Recrystallization
(C) H,O:Toluene (R) Steam distillation
(S) Differential

exltraction
Options: 6®
i
41652936190, N > R); (B) WPJ?@%}
\Q‘Z}

a1e52936191. ) ’(SJF{Bg ) (€ (D)
41652936192, (A)(Q): (B) »(R); (€) »(5)

41650936193, )2 (Q) (B)S(R); (C)(P)

Question Number : 38 Question Id : 4165299183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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TEt | 991 11 % == Uel gHe €

| g 11

( fagor ) ( geraaRTor fafy )
(A) H,O: &1 (P) IR
(B) H,O:UfeH  (Q) Y fofeem

() HO:AEd  (R) M e
(S) WIS HAHA

Options:

41650936190, )2 R): (B)>(P); (O ~(5)

41650936191 (A)>6) (B)>(R); (O (P)
41652936192 (&) >(Q); (B)»(R); (C) »(S)

(A)>(Q); (B) »(R); (©) »(P)

418529361935,

Question Number : 39 Question Id : 4165299184 Question Type: MCQ Option Shuffling.: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The correct match between item (I} and
item (1I) is :

Item -1 Item - 11
(A) Norethindrone (P) Anti-bigk®
(B) Ofloxacin Q) Anti-{eRtility
(C) Equanil R) H\'\g&‘tension

(5)§’Q§algesics

Options:
41652936194, (A)>(R); (B)»(P); (C) >(5)
41652938195, (A)>(R); (By>(P); (C)»>(R)
41652936198, () Q) (B)»(R); (C)(5)

41650036197 N Q) (B)>(P); (C)»(R)

Question Number : 39 Question Id : 4165299184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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TET (1) a1 (11) o == wE ghe #

Hel oz 1l
(A) FrefeTeE (P) wfersif
(B) oA (Q) WidSHA EAl
(C) i R) o=

(5) rewrl

Options:
41652936194, (A)>R); (B)>(P); (C) (5

41652936195, (A) >(R); (B) »(P); (C) »(R)

41652936196, (A) Q) (B) »(R); (C) »(5)

41652936197, (D) 2(Q) (B)»>(P); (C)»(R)

Question Number : 40 Question Id : 4165299185 Question Type: MCQ Option Shuffling: Yes-Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Anorganic compound is estimated through
Dumus method and was found to evolve
6 moles of CD?_, 4 moles of HED and 1 mole
of nitrogen gas. The formula of the

compound is :
Options: S&&@&
41652936198, CpHgNy &
\Q‘Zr
QQ
41652936199, C12HsN N

41652936200, 6l igN2

41852936201, CellgN

Question Number : 40 Question Id : 4165299185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
UF FHEE GF = =gE &Gty g e
T I 9 T fE 6 HiE CO,, 4 7el H,0
[T 1 HIeT E2ro Scateid 2 ¢ | $9 ATH
?F:HCE[%:

Options:

i

416525936198, fEHSN"
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4165259261945, LIEHHN

41652936200, el g2

41652036201, CellgN

Question Number : 41 Question Id : 4165299186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The correct order of the atomic radii of C,
Cs, Al, andSis :

Options:

416529368202, O<C<UCs< Al

41652036203, C<5<Al<Cs

41652936204, C<S<Cs< Al

5<C<Al<Gs
416525936205,

Question Number : 41 Question Id : 4165299186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

C,Cs,ﬂl@Sgﬁwﬁﬂ'ﬁFﬁwaﬁ%@

HIFH T : g\\

- NS
Options: be.
41652036202, S <C<Cs< @

$

41652936203, C<S<AI<G

41652036204, © €S < Cs<Al

S<C<Al<Cs
4155258236205,

Question Number : 42 Question Id : 4165299187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Match the ores (column A) with the metals
(column B) :

(Column A) (Column B)
Ores Metals
(I) Siderite (a) Zinc
(II) Kaolinite (b) Copper
(III) Malachite (c) Iron
(IV) Calamine (d) Aluminium
Options:

41652936206, 1) - @) (1) - (b); (II) - (c); (IV) - (d)

41652936207, (1) - (€); (I) - (d); (II) - (b); (IV) - (a)
41650636205 @) = (0) (D) - (c); (1) - (d); (IV) - (a)

(D) - (©); () - (d); (1) - (a); (IV) - (b)

416525936209,

Question Number : 42 Question Id : 4165299187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
AT (AT A) F1 9 (FTeH B) =+

A HIA HIT, :

(FHTTH A ) (HTHE B )
T Big| \\Q@

(n foeuse () ﬁ$§

@ FeAferse () @%ﬂ
(1) HerFmEe R s
(IV) e (d) . uEHiE

Options:
41650026206 (1) - @) (IT) -{b); (IT) - (c); (IV) - (d)

41852936207, (1) - (c) (II) - (d); (II) - (b); (IV) - (a)
41652936205 W) - (b): () - (c); (II) - (d); (IV) - (a)

(I) - (¢); () - (d); (1) - (a); (IV) - (b)

4165259236209,

Question Number : 43 Question Id : 4165299188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

NaH is an example of :
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41652936210, metallic hydride

41652936211, molecular hydride

41652936212, saline hydride

electron-rich hydride
41552935213,

Question Number : 43 Question Id : 4165299188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

NaH T 3= € :
Options:

41652936210, M BEETes

416525836211, = i

41652936212, CA ClRgIES

TR - YAl TSRS &
41652936213, : 7

Question Number : 44 Question Id : 4165299189 Quegstion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientq\'\og: Vertical

Correct Marks: 4 WrongMarks: 1
X

The correct statements amo@] to (d)

regarding H, as a fuel are :@Q

(a) It produces less @lutants than
petrol.

(b) A cylinder ofs compressed
dihydrogen weighs~~30 times more
than a petrol tank producing the same
amount of energy.

(c) Dihydrogen is stored in tanks of
metal alloys like NaNis.

(d) On combustion, values of energy
released per gram of liquid
dihydrogen and LPG are 50 and
142 k], respectively.

Options:

41650936214 (@) and (c) only

41650936215, () (€) and (d) only
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41652936216, () and (d) only

iiEessnanty @) (p)and () only

Question Number : 44 Question Id : 4165299189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S ETH H, F AL H, (a) | (d) H F HE

EOCh
(@) ¥ U2 i STUe FH TgUFHI B S
2l

(b) =HI HE F FeNl S0 A & (A0 TH
Ugia ¥F &I oW § uF Huifed
E[EREEeA # fafdet ~30 T AYF
I B 2 |

(c) =1E@EEeA & NaNig &l T& & g
fogg % 3§ v 9 2

(d) =& * 39, 9id 7 =fad SEeEseH
91 LPG | Iefeld el o A HH:
50 AT 142 k] &1

Options:
41652936214, {a} = {C} L §®
S
@
41652936215, {b C] Ll {d %
@

416525936216, (7) B )

41652936217 (@), (b) TG JH

Question Number : 45 Question Id : 4165299190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The amphoteric hydroxide is :
Options:

41652936215, Pe(OH):

41652036219, M8(OH),

41650036000, —A(OH)2
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Sr(OH),
41652936221, =

Question Number : 45 Question Id : 4165299190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
IYgYHl BEeEEEe ©

Options:

41652036215, Pe(OH):

41652936219, MB(OH),

41652936220, Ca(OH),

Sr{OH),
41652936221, i

Question Number : 46 Question Id : 4165299191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The chloride that CANNOT get hydrolysed
15 :

Options:
41652936222, CCla
41652936223 Ol Q
\Q
S\
- e
41652936224, ONCly f&\
N
@Q
PbCl, P
41652936225,

Question Number : 46 Question Id : 4165299191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FARES T Sel-217929 74 & T &,
El'ﬂ%’

Options:

416525936222, CCly

41652036223, OiCly
41652936224, ¢l
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PbCl,
41852936225,

Question Number : 47 Question Id : 4165299192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The element that usually does NOT show
variable oxidation states is :

Options:
41652936228, OC

41652936227, U

41652936228, |1

41652936229, V

Question Number : 47 Question Id : 4165299192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T w9 H IEdAE S STEe T
Hefeid w3 916 9 ©

Options:

41652936226, €

41652936227, U gg&

41652936228, 11 N

41652936229, V

Question Number : 48 Question Id : 4165299193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Match the metals (column I) with the
coordination compound(s)/enzyme(s)
(column 11} :

(column [) (column 11)
Metals Coordination
compound(s)/enzyme(s)

(A) Co (i) Wilkinson catalyst

(B) Zn (ii) Chlorophyll

(C) Rh (i) VitaminBy,

(D) Mg (iv) Carbonic anhydrase
Options:
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41650936230  (A)-(11); (B)-(1); (C)-(iv); (D)-(iii)
41650936231 (A)-(1v); (B)-(iid); (O)-(1); (D)-(ii)
41652936232, (A)-(1); (B)-(11); (C)-(iiD); (D)-(iv)

41652936233, (- (B)-1v); (O-(0); (P)-(1)

Question Number : 48 Question Id : 4165299193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T (T 1) F S Ay

T=EH (SRTeTd 11) & W19 gHfe Hita
(eRTeAd 1) (RTAF 1L )

(A) Co (i) Tafesaa 3cT®
(B) Zn (i) FEARITEA

(C) Rh (iii) =™ By,

(D) Mg (iv) FEE TGS

Options:

41650036230 (A)-(1); (B)-(1); (C)-(1v); (D)-(1ii)
41652936231, (A)-(V); (B)(iid); (O)- g\\ﬁ\
‘Z,

41650936232 (A)-(1); (B)-(i1); @Q&i ); AD(iv)
@
4165093605g (-1 (B)-(iv); (Q-@); (D)-(ii)

Question Number : 49 Question Id : 4165299194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The concentration of dissolved oxygen
(DO) in cold water can go upto :

Options:
41652036234, O ppm

41652936235, 10 ppm

416525936236, - ppm
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16 m
A1EEZ2QZE22T, PP

Question Number : 49 Question Id : 4165299194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
32 9 | Jiera Afeded (DO) & dr=dl &
FO HH E T

Options:

41652936234, O Ppm

41652036235, 10 ppm

41852936256, = PP

16 m
A1EEZ2QZE22T, PP

Question Number : 50 Question Id : 4165299195 Question Type: MCQ Option Shuffling:Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Peroxyacetyl nitrate (PAN), an eye irritant
is produced by :

Options:

41652936235, acid rain

O

o &
41652936230, | PTEADICWASE g\

&
S
photochemical og
4152926240,
N
classical smog
41eE293824]1 .

Question Number : 50 Question Id : 4165299195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
WFHTHREA A2 (PAN), UF F9 30,
frefafaa 9§ 4 fFad 3om 2m 872

Options:

41650936038, T T

r i~

AU
415523936239,

THI9 THEAS HFE

41852936240,
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T yaFa

415523926241,

Question Number : 51 Question Id : 4165299196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A 10 mg effervescent tablet containing
sodium bicarbonate and oxalic acid releases
0.25 ml of CO, atT=298.15Kand p=1har.
[f molar volume of CO, is 25.0 L under such
condition, what is the percentage of sodium
bicarbonate in each tablet ?

[ Molar mass of NaHCO5; =84 g mol 1
Options:
41652936242, 84

41652936243, 0.84

41652936244, 108

41652936245, 20-0

Question Number : 51 Question Id : 4165299196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
ey AEFETe a1 SafaE 77
10 mg 1 FEIEH A 202 T—§®B.15 K
T p =1 bar T 0.25ml CO, JReIq FLAE |

T g9 H, 9§ CO, HH 25.0L%,
Tl UeF 2o H Gifsgy AFE & =

yfaed 87 (NaHCO, 1 I, 399 =
84gmol ! )

Options:

41652936242, 84

41652936243, 0.84

41652936244, 108

41652936245, 20-0

Question Number : 52 Question Id : 4165299197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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A solid having density of 9 % 10° kg m 3
forms face centred cubic crystals of edge

length.z{}[h@ pm. What is the molar mass
of the solid ?

[Avogadro constant =6 %102 mol ~ 1, 7 = 3]

Options:
41652936246, 0.0432 ke mol !

41652936247, 04320 kg mol

: 1
41652936245, 00216 kg mol

41652936249, 0-0305kg mol ~!

Question Number : 52 Question Id : 4165299197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
e I, fauE = 9 < 103kg m 3 &, Ferh
20042 pm &1 3E F AR F=HH F1 82
[=TarmEl A = 6 < 102 mol ~ 1, 7 = 3]

Options:

41652936246, 0.0432 kg mol !

41652936247, 0.4320kg mol ! S’Q@
&
41652936248 00216 kg mﬂ%&
3

41652936549, 00305 kg mol !

Question Number : 53 Question Id ;4165299198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Heat treatment of muscular pain involves
radiation of wavelength of about 900 nm.
Which spectral line of H-atom is suitable
for this purpose ?

[Ry=1x 10° em 1, h=6.6 x10 3 Js,
c=3x108 ms~—1]

Options:

L o
418529368250, L}rmaﬂ, e

41652936251, balmer, %2
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41650936252, Paschen, 553

41652936253 Faschen, o3

Question Number : 53 Question Id : 4165299198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HEYYE & F FH STAN F fAaw @
900 nm F e F fafewom =1 IwEm e
21 59 fera H-weam] =it Fit ez «e
SYTH 77

[Ry=1x10° cm~!, h=6.6 x10"34 Js,
c=3x108 ms—1]

Options:
TMEHA, = »1
41652936250
, 0032
41652936251,

41652936252, AWM, 33

qFHE, = —3
41552935253,

%

Question Number : 54 Question Id : 416529 uestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option O, ation ;- Vertical

Correct Marks: 4 Wrong Marks: 1 &

|2

For the chemical reacti X Y the
standard reaction Gibbs energy depends on
temperature T (in K) as

E QY.
AG® (ink] mol ') =120 g'l,
The major component of the reaction

mixture at T is -
Options:

41652936254, AU T=350K

41652936255, Y U T=300K

41852936256, AU T=315K

41650036057, T 0 T=280K
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Question Number : 54 Question Id : 4165299199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TEEHE AfafEa x —y % f@u, A
Hfafwa s &= a9 (K H) W fF=fatad
1 TE AT Bl &

=z 3
A,G® (in k] mol ™) =120 =T

Afuaferan fagm =1 9= T=s T W e
Options:

41652936254, A T=350K

41652036255, ¥ afe T=300 K

41652936256, X Me T=315K

' —
41E52836257. Y T T=280 K

Question Number : 55 Question Id : 4165299200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Two blocks of the same metal having same

mass and at temperature T, and T,,

respectively, are brought in contact

each other and allowed to attam

equilibrium at constant pres The

change in entropy, AS, for thi g&eqq ig':
Options:

. I_n[
Pl 4l

416525936258,

' 2
C. In (TI | TE }
P 4Ty T,

41852936259,

e b hal |
P 2Ty Ty

41852936260,
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3| =

oc. In |1t T2)°
P TyT,

416525936261,

Question Number : 55 Question Id : 4165299200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T, 991 T, T TR UF g5 F 997 H
@ T a9 E | W S 3T AT
=7 fen 7@ 59 9y °, U= ufiEdd AS

T
Options:
' 3
e h1[!i_l;52
Pl 4T,
41652936258, '
' 2
o g | )
P 4Ty T,
41652936259,

2, in | ALt T2
P RS
41EEZ93E2E0. gg&
®

i

| N
Ih,%@%
P 112

Question Number : 56 Question Id : 4165299201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

d1E525936261.

The freezing point of a diluted milk sample
is found tobe —0.2°C, while it should have
been —0.5°C for pure milk. How much
water has been added to pure milk to make
the diluted sample 7

Options:
41657936262 1 cup of water to 2 cups of pure milk

41652936263, 2cups of water to 3 cups of pure milk
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7 2 -
41652936264, O cupsof water to2 cups of pure milk

41852036263, | Cup of water to 3 cups of pure milk

Question Number : 56 Question Id : 4165299201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

TF TIFG g9 Wiaewl & fediE —0.2°C 9
T, wEtE favs g9 # fedis - 0.5°C @
MY | FFHd g7 Wiaeyl =l =9 o fore f&a9s
gy ¥ fara st Toeran war &7

Options:

U— L LS R

3 %Y 996 g9 ° 2 9 91d
41650936263, g

3 “'.
41655036064 2 P9 G 9 H 3 %Y W

3 %4 fagg 9 H 1 F9 9o
41652936265, g

Question Number : 57 Question Id : 4165299202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct_l\_/ljar_ks 4 WrongMarks: 1 S@

Consider the reaction §Z§
Ny(g) +3Hy(g) = 2NHs(g) ¥

The equilibrium constan @th& above
reaction is K . If pure m&mma is lelt to
dissociate, the partial pressure of ammonia
at equilibrium is given by (Assume that

Py L, << Ptotal at equilibrium)

Options:

41652936266, 10

415523936267,
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p
41652936268, 4
.{‘"_,f;: - .I'.-',_(| e
2K, 2 T
16
41652936269

Question Number : 57 Question Id : 4165299202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Frefeafaa afafsa = fa=r e
Ny(g) +3H,(g) — 2NH;(g)

Iwf fafE w1 W R K, 21 afg
forers ST 1 ferifom 2 feon T 2, A
TR T SHIAE 1 A9+ 2 €

(HH Eit AU GEEE 9T p-\]“_-!,{{ pm)
Options:
e
L‘P I
41652936266, 10
B Y o2 N
34K 2 P S8
4 N
41652936267, Q§>
Q
| S
J
41652936268, 4
ol o
372K 2 T
16
41652936269

Question Number : 58 Question Id : 4165299203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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For the cell Zn(s) Zn?" (aq) M* ' (aq)|M(s),
different half cells and their standard
electrode potentials are given below :

M (aq)/ Mis) Au”(2g)/\Ag" (ag)/ F‘i.(?q” };EE__':?“}";
Aufs) Agls) | Fe'"(aq) | Fe(s)
E“Mx+ ;’M"r{w 1.40 0.80 0.77 —0.44

IfE; 24 /Zn= 0.76 V, which cathode will
ive a maximum value of E° er electron
5 cell P
transferred ?
Options:

3+
41650936070, AU /Au

b
41652036271 8 /A

A -Fll } ol s }
41652036272, Fe’ " /Fes

Fe?* /Fe
41652936273,

Question Number : 58 Question Id : 4165299203 Question Type: MCQ Option-Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
He Zn(s) Zn>* (aq)|M* * (aq)|M(s) F fag
fafys Ag-Ha 91 3% 7S QH@E EEE
e et # g@

Pte)
Au'* (ag)/ |Ag" (aq;,g\@ﬁy(mw e’ ag)/
Aus) | §§$ Fe' ()] Fels)
[

[j"MI + .-'rf‘-'I’lll v 1.40 4 QTR —0.44

M (aq)/ M(s)

AR B2+ 70 = —0.76 VA I o1
TR o 70 % 3 TS FE° ), TAeF
I

Options:

34
41650036070, U /AU

b
41652936271, 8 /A8

P iy
416529368272, Fe’ " /Fes

Fe?* /Fe
41652936273,

Question Number : 59 Question Id : 4165299204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
I[f a reaction follows the Arrhenius

equation, the plot Ink vs }f(RT] gives

straight line with a gradient ( — i) unit. The
energy require::l to activate the reactant is :

Options:
41652936274, YR unit

41652036275, ¥ unl

iy urat
41552936276, Y

1/ R unit
41652936277,

Question Number : 59 Question Id : 4165299204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Tl &, A= Ink vs %RT] , & =T ()

A & 919 UH 99 TG Sq1 21 AT

=1 WiEwd FT % fou a9 ¢
Options: g&\g
41652936274, YR TP N
\Q‘Z}
QQ

41652936275, Y AT O
41652936276, Y AR

/R HHF
41652936277

Question Number : 60 Question Id : 4165299205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An example of solid sol is :

Options:
415529368278, Gem stones

41652936279, L aint
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41652936250, butter

4165063525, Hlair cream

Question Number : 60 Question Id : 4165299205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
21 el fFge U S 27

Options:

41652936278, S 2H

=,

41852936279, hi:

41652936280, THa1

.1 -,

AL I
41652936251,
Mathermatics

Section Id : 416529129
Section Number : 3
Section type: Online
Mandatory or Optional: §® Mandatory
Number of Questions: SQ\ 30
Number of Questionsto be attempted:&z, 30
Section Marks: \Q(b' 120
Display Number Panel: &Q Yes
Group All Questions: @ No

Sub-Section Number: 1

Sub-Section 1d: 416529138

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 4165299206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let f: R>R be defined by f(x)= g

1+x

a9 f

x € R. Then the range of fis:
k|
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R

d1E525936283. -1, 1]

41652936284.( 1,1)~{0}

418529368285,

Question Number : 61 Question Id : 4165299206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AR OR, f(y)=—2 _ ,x € R g1 9iR4rua
14+x°

fopn T %, 4 f o uiE

Options:
|- 53]
2" 2
41EE293E282.
41652936285, R-[-11]
41652936284.{ L%
LLE N
2" 2 §z§
41652936285, Q§>
N
&Q
N

Question Number : 62 Question Id : 4165299207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option'Orientation : Vertical

Correct Marks: 4 Wrong Marks -1

If one real root of the quadratic equation
81x2+ kx + 256 =0 is cube of the other root,
then a value of k is :

Options:
41652936256, — 300

41852936287, 100

416525936288, 144

416525936289, 81
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Question Number : 62 Question Id : 4165299207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
7fe fgemd FHHT0 81x2 + ka + 256 =0 =1 TH
T FHL HA %1 9 (cube) 7, T k 1 TFH AF
s

Options:
41652936286, — 300

41652936287, 100

41B5293E285. 144

41B852936289. 81

Question Number : 63 Question Id : 4165299208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

1.\°  x+i :
Let[ Joig| =t N (i= —1), where

3] 27
x and y are real numbers, then y—x
equals :
Options:

41652936290, 91

41652936291, B89 gﬁ\
»
9 \QQ’
41652936292, ~ 71 N
N
B5
41652936293,

Question Number : 63 Question Id : 4165299208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
{ W iliy

|qE | -2 —f} - = (7)., W&
\ 3 7 (=-1) W&

x TN y ARt S, @y - x AL

Options:
41652936290, 91

41652936291, 89

41652936292, — 91
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4185293682935,

Question Number : 64 Question Id : 4165299209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
(0 2q r
Let A=|p q r|, If AAT = l5, then

P 9 T}

Plis:
Options:
3
V2
415529262594,
=3
3
416529362595,
1
416552936296, "'G
1
J6
416852936297, ®
SN
Question Number : 64 Question Id : 41652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Optior‘r@ tation: Vertical
Correct Marks: 4 Wrong Marks: 1@

(0 2q r)
M A= p q -1 gRAQAV=1L, @
4. F)
Pl aET # -
Options:
k]
]
41652936204, V2
*
3
41652936295, V3
1

41552936256, “E
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d1B525936297.

Question Number : 65 Question Id : 4165299210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
[f the system of linear equations
2x+2y+3z=a
3x—y+5z=b
x—3y+2z=c
where a, b, c are non-zero real numbers, has
more than one solution, then :

Options:

41650036008 DT a=0

41650936209, D cta=0

41652936300, 0 ¢ a=0

41652936301, atb+c=0

Question Number : 65 Question Id : 4165299210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
7fe Tfge e A 3
2x+2y+3z=a \QQ”
3x—y+5z=b N

IX— Y +oz= @
x—3y+2z=c

@ a, b, ¢ AT AT G E, F UF 9
wfs 2 &, 1 ;

Options:

41650036298 0T a=0

416509360099 P cta=0

41652936300, 0 ¢ a=0

41652936201, atb+c=0

Question Number : 66 Question Id : 4165299211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The sum of the real values of x for which
the middle term in the binomial expansion

r;;l jﬁ
B -

of

equals 5670 is :
J
Options:

41652936302, U

41652936303, 4

41852936304,

416525926205,

Question Number : 66 Question Id : 4165299211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

P 3¢
x%ﬂ?mmﬁmmﬁﬁﬁ%%mﬁg'; ED
o A
f59e 99K 1 999 Y€ 5670 2, F1 a1 2 ;
Options:
41652936302, U
41652936303, 4 §§§>
g\
| $
41652936304, ° NS
| Q
S
8 N\)

4165259236205,

Question Number : 67 Question Id: 4165299212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

a

Leta,, ay, .., a;gbea G.P. If = = 25, then
2 2

a

= equals :

a5

Options:

] =04
41652936306, "{5]

:
416520936207, H3%)

53
41552936308,
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54
416529326209,

Question Number : 67 Question Id : 4165299212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

HHT ﬂlr ﬂz, — dlﬂ -Qa; Iu“[E{ é\]a::r %l _qﬁ

a

B o5, G auEry:
aq dg
Options:

(5%)
41652936306.

:
41652936307, 459
41652936308,

41852936309,

Question Number : 68 Question Id : 4165299213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The sum of an infinite geometric series with
positive terms is 3 and the sum of the cubes

27
of its terms is — . Then the comzr Ho
' S
of this series is : c&\
N
Options: Q$
41652936210, 2
2
41652936311, 9
i
41652936312, 3
2
3
41652936313,

Question Number : 68 Question Id : 4165299213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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¥ TSi 1 U A T[0T GO 1GR3 ¥
= e = = 2? =
?MgﬁﬁﬁﬂW@hﬂmmwﬁﬁm

59 FVIt 1 A S €

Options:
4
41652936310, 0
2
41652936311, 9
i
41652936312, 3
2
3
41652936313,

Question Number : 69 Question Id : 4165299214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The value of r for which
P_{](: 2{}{: | 2{](: EZGCI | H}C r:l."_'[]{;‘rJ |
r T e A

7 My—
} h{ﬂcﬂ T r
15 Maximuim, 1s . %§®
Options: %
N
41652936314, 11 >
<§§§

Q
41652936315, 12 Q

41652936316, 10

416525936217,

Question Number : 69 Question Id : 4165299214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

r &1 98 °F, faas fau
20, 20 20, 20 20 20
CH B et R, S S SRR G
= | hﬂcﬂ ;_{]Cr

Options:
41652936314, 11
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4155239363215,

0

=

415525936316,

416525936217,

Question Number : 70 Question Id : 4165299215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Let [x] denote the greatest integer less than
orequal to x. Then:

tan(r sin® x)4 (|1| 51“(3‘7[3':]))2 ;
: :

lim
x—0 ¥

Options:

41652936315, oquals T

41652938319, equals(

41652036320, equalsw+1

does not exist
41552938221,

Question Number : 70 Question Id : 41652992155%%ﬁ|on Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Ori n: Vertical
Correct Marks: 4 Wrong Marks: 1 %
= - \Q
A [x], Ewmmﬂgﬁﬁﬂmﬂ
39T &, N
s : - 2
tan( sin” x ) (|x| mn[x[x]))

lim = — !
x—0 X
Options:

= % A
41852936218,
41652936219, Lo %

41650936300, TH1H W E

418529368321, = :ﬁ?r%
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Question Number : 71 Question Id : 4165299216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If xlog, (log, x)—x+y* =4 (y > 0), then

y Eiepi It
— dl X =¢£ 15 egual o :
dx 1
Options:
(2e~1)
2&,“4Ie‘2
41652936322,
&1
f 5
41650936323 Vite
(1+2¢)
P
4lesoazegoq, - VAte
(1+2¢)
| )
ad+e©
41652936325,

Question Number : 71 Question Id : 4165299216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 ®

_ A B N
ﬂﬁﬂng(lngﬁx x+y =4 (1 &Sﬁ}?ﬂ

ﬂ’ Q>
x—e R L N
dx $
$
Options:
.[26 1)
Eufléle‘z
41652936322,
5
| 2z
41650936303, VT
(142¢)
P
41650936304 2 VAte
'['1|2e)
x-'lélf'z
41652936325,
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Question Number : 72 Question Id : 4165299217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

i

J 1, 2<x<()
bt EIE L, O=x < 2 e
(0= |f@)|+f(|x]). Then, in the interval
(—2 2}, gis:
Options:

41650936305, NOt continuous
416520035307 ot differentiable at one point

41652036305 Not differentiable at two points

differentiable at all points
41552935329,

Question Number : 72 Question Id : 4165299217 Question Type: MCQ Option Shuffling :-Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
j 1, —-2<x<0

[,1'2 L. fxx <2

= [f+ (], 7 s (-2, g@%
N

Options: (§)
~ N
41652936326, 10 e @Q\

N
uF fag W saFeHg @ e

A f(x)= A

A1652836327.

TI— fagell W AaFaTd 6 €

41652936329, T forgetl W €

Question Number : 73 Question Id : 4165299218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The maximum value of the function
f(x)=3x" 18x%2+ 27x 40 on the set

G {1‘51{:1’2 | 3{]*_1113:} is :

Options:
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41652936330, 122

41652936331, — 122

41652936332, 222

41652936333, — 222

Question Number : 73 Question Id : 4165299218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
=g 5= {J:ER:::2 i 3[]*_:1'1:(} T el

flx) =3x% — 18x2 + 27x — 40 1 AfIHTH AH
?:

Options:

41652936330, 122

41652936331, — 122
4165293633z, 222

41652936333, — 222

$

Q
Question Number : 74 Question Id : 416529921 S@uastion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Ori ion : Vertical

Correct Marks: 4 WrongMarks: 1 Q(b"

1 o i d

If \'Il—fﬂ‘xzﬂ{xj(él x‘J +C o,
x LN

for a suitable chosen/integer m and a

function A(x), where C is.a constant of
integration, then (A(x))™ equals :

Options:
4
41652936334,
1
3
41652936335, X
1
-
Yy =
41652936338, <%
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1

27 x°

41E525936337.

Question Number : 74 Question Id : 4165299219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FUHE U m T U e A(x) & faw Atg
J.\.u"l x2
1.-1

¢1'x=.-'1{x]f\.n"1 J:ETHJC ,

\ #

el C Us HAEeH = 8, 1 (A(x))™ TR

5

2
Options:
gyt
41652936334,
1
3
41652036335, X
1
—_—
.
41652936338, =%
S\\Q’\'\\
¥7 16 &
Il X "b..
41652936337, S

Question Number : 75 Question Id : 4165299220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks:'1
yi
. 2
sin” X &
The value of the integral J. = 1 X
i) | E,
—z[ 1 2

pr—
L

(where [x] denotes the greatest integer less
than or equal tox ) is :

Options:

41652936338, + Sin4

41652936339, U

41652936340, 4
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in4
41552936341,

Question Number : 75 Question Id : 4165299220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

2
sinz_r g
H] qiiqi x | ]. .
2= "2

(S [x], x F T9ME 91 300 %9 9299 qUiH

I =T E) WAA T
Options:
416502936338, +sin4

41652936339, U
41652936340, 2

sin 4
41552935341 .

Question Number : 76 Question Id : 4165299221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 ®
The area (in sq.units) of the region iﬁ&led

by the curve 1‘2=4y and the str: t line

x=dy—2is: Q(b"
: R

Options: @

3
41652936342, 4

4]
41652936343, O

5
41652936344,

7
41652936345,

Question Number : 76 Question Id : 4165299221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Tk a2 =4y TI W W@ x =4y -2 §R R
151 1 SThel (a7 SHEdl H) ¥
Options:
3

41652936342, 4

w|o

41852936345,

= |

4165258236244,
A
4165259362345,

Question Number : 77 Question Id : 4165299222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If y(x) is the solution of the differential

dy [ 2x 4 IW oy
- — =g , x>0
equation & [ > 0 ¥ :
here y(1) = ¢ 72, u &
where = — , then :
2 K&Q
Options: _ @

|
y ﬂ'ogﬁ 2] =
41652936346, QQ 4

N

(o L 2)=1dg 4
415529363247, fﬂ Be Be

y(x) is decreasing in (0, 1
41652936348, ﬂ: } & ( :]

rlrl'a]
2

y(x) is decreasing in
41652936349.

N,

Question Number : 77 Question Id : 4165299222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Ife sEFa GHFH

2x + 1) —2y
%l[ x ;yzf x>0 e y(x)

T, W y(l)= —e 7,4
Options:

log, 2

Py =
y (log, 2) =

4165259236246,

41652936347, ¥ (108 2) =log. 4

ales293ez4g, (0,1) H y(x) TEEAA €

.-"'"_'_"‘x.
B3| —
-

1] H y(x) THAA T |
41652936349,

Question Number : 78 Question Id : 4165299223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two circles with equal radii are intersecting
at the points (0, 1) and (0, — 1). The tangent
atthe point (0, 1) to one of the circles pa*—;aeq
through the centre of the other circle.

the distance between the centres (% e&e

circles is :
Options: ’Q\
: Q
"
41552938250, 'ﬁ %
41552938251, 1
4152926252, 2
J2
415529383253,

Question Number : 78 Question Id : 4165299223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
R = % 21 99, faga (0, 1) a=n
(0, —1) WHEd &1 0 4 UF 99 F g
(0, 1) W% T991 T T 99 % 7% § 2L ol
¥, 57 g9 & Fml & A" gl e
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Options:

416525936350,

415525936251,

415525936352,

2

416525936353,

Question Number : 79 Question Id : 4165299224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The straight line x+ 2y =1 meets the
coordinate axes at A and B. A circle is
drawn through A, B and the origin. Then
the sum of perpendicular distances from A
and B on the tangent to the circle at the
origin is :

Options:

4155259362354,

4165259236355,

415525936356, f§)

416525936357,

Question Number : 79 Question Id : 4165299224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

T @ x+ 2y =1 R A4 F A 9 B
W Hed #1 HA fag, A 991 B ¥ g9 9
e 99 i TR, o g fa W g9 '
9 T F A 991 B ¥ w=ad g A
-

Options:

45

415523926354,
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#.
& |G

4165259236355,
245
41552936356, \II{_
J5
2
416525936357, &

Question Number : 80 Question Id : 4165299225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A square is inscribed in the circle
x2 4 yz bx + 8y —103=0 with its sides
parallel to the coordinate axes. Then the
distance of the vertex of this square which
is nearest to the origin is :

Options:
41652936358, °
e
41650036360,
N
W\
41652036361, V137 §§>
QO
N

Question Number : 80 Question Id 5299225, Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Frewie® A4 * FHFR S F10F =91, g9
22 +y2—6x+ By —103 =0 FH-Fd & o 39
=7 1 =98 911 o1 g g F 9y e €, F
e

Options:

41652936358, 6

Vi

4165259262359,

416525936360, 1

41652936361, V137

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

Question Number : 81 Question Id : 4165299226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Equation of a common tangent to the
parabola yzzalx and the hyperbola xy=2

i5 :
Options:
e By e i e
41650936360, ¥ Y T4=0
41652036363, YTy H1=0
dx +2 s
41652036364, X2y +1=0
i A
41650936365, Y T2y +4=0

Question Number : 81 Question Id : 4165299226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Eed y2=4x 91 AfdHEed xy =2 & TH
IAfTeS Tl T 1 HHE R
Options:

r— 4=
41852356362, L & =0

41652036363, YTy +1=0 \Q®
g\
»
4x +2y+1=0 be.
Q

\
3.'I2'|J.-Iil=®Q

41852936364,

415525936365,

Question Number : 82 Question Id : 4165299227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

If tangents are drawn to the ellipse
x2+2y? =2 at all points on the ellipse other
than its four vertices then the mid points
of the tangents intercepted between the
coordinate axes lie on the curve :

Options:

2x2

415523936366,
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1 1
A S
02
)
41652936367, :
2 2
x 1,
2 4
416529363268,
> 2
X
L AN
41652936369, 2

Question Number : 82 Question Id : 4165299227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ffg e 12+ 29> =2 & 9N dl & Afdfem
ok |t fagall W ool wad i e € @
= T991 T o e A4 3 | F oda.Ee

F g fag = 8 3§ g o w272
Options:
o g
2yt 4y2
41652936366, ‘
1 1
S ST
2 N
4 2
41652936367, y S’Q\Q
N
Q
2 T
41652936368,
) 2
R

41652936369, 4

Question Number : 83 Question Id : 4165299228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The direction ratios of normal to the plane
through the points (0, —1, 0) and (0, 0, 1)

and making an angle } with the plane
y—z+5=0are:

Options:
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41652936370,
0
41652936371
41652936372, & — L1
IR R
41652936373,

Question Number : 83 Question Id : 4165299228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

g3 (0, — 1, 0) 791 (0,0, 1) T BT ST =1l
A THAA y— 2 +5=0 F A E 1 Fm

T A HHAA F AT & faw wuE
(direction ratios) 2:

Options:
i e,
41652936370.
2.J3.1,~1
41652936371 N
\Q
2 —=1.1 g\
41652936372, < L NS
N
_ S
41652936373 N

Question Number : 84 Question Id :- 4165299229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The plane containing the line

T ) w+d = 1 d A1
> " 3 an also

containing its projection on the plane

2x +3y— z=>5, contains which one of the

following points ?

Options:

41852936374 0, -22)

)
418529368575, (2.0, -2

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

2
415523936376, (2,2,0)

2
41852936377, (=223

Question Number : 84 Question Id : 4165299229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

x - z 1

7 | 3
STATaTE & G 55 Tl & THae 2x + 3y
™ WaT (projection) f = 2, ‘Hﬁﬁ
4 % T fag froa &2

Options:

=5
H

4165259362374, 0, -22

2
4165259362375, 2.0, -2)

9
416525936376, (2.2,0)

2
416525936377, (2243

Question Number : 85 Question Id : 4165299230 ion Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orler@ n: Vertical

Correct Marks: 4WrongMarks 1 §,
L 5 ﬁ\& d
et a—ll-J|41-. b Jlslk an

3

—

= 4] I[h ) 1( be %, ceplanar

—  —»

vectors. Then the non-zerovector 3 x ¢
15 :

Options:

10§ 5]

41652936378,
P Pt
14i-5]

4152936374,
M M
10§45

41552936380,
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M M
14i+5]
41652936381,

Question Number : 85 Question Id : 4165299230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

— A A A= A A A
HAT a=i+2j+4k, b=i+hj+dk =T
.—} 2 M,

C =

2i+4j+(2-1) k wwE Atz E @

TAR AT 4 x ¢ B

Options:
10§ -5
41652936378,
o i
14i-5]
41652936379,
M e
10i45]
41652936380,
M M
14i45]
41652936381, §

S
Sy
Question Number : 86 Question Id : 416 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Opti rientation: Vertical

Correct Marks: 4 Wrong Marks: @

The outcome of each of 30 items was
observed ; 10 items gave an oulcome

d each, 10 items gave outcome

each and the remaining 10 items gave

1
outcome 5 t d each. If the variance of this

4
outcome data is E then |d| equals :

Options:
416529336382, ‘-"E

416525936383, -
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N
v G

4165259362384,
2

4165259362385,

Question Number : 86 Question Id : 4165299231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
30 3ME2H (items) 1 IEOTH <@1 T4 59H |

10 #1529 ¥ 9« o qfony % d faam,
= = = 1 y
mmnm?qﬁmg T a9 =Rt
o s |
ln-ﬂwﬁWHWE + d faan) afe
oo i [ T
o SHiR T 2 T |d e R

Options:
41652936382, “E

41652936385, -

| &

V5 N

N S

: S
41652936354, @
@$

41652936255

Question Number : 87 Question Id : 4165299232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Two integers are selected at random from
the set {1, 2, ..., 11}. Given that the sum of
selected numbers is even, the conditional
probability that both the numbers are even
is :
Options:
2
5

4165259362386,
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M | =

4165259362387,

| L

415523926388,

7
41652936359, 10

Question Number : 87 Question Id : 4165299232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 o
=4 {1, 2, ..., 11} 1 51 quis Fgf= fau
T #) e ® o ot v gemei mAm En g
AT gEer & 9" g4 %1 gufasy
(conditional) a1 & :

Options: _

2
41652936386, °

1

2
41652936387,

N
Q

3 S

5 S
41652936388, Q\Q

@$

7
41652936359, 10

Question Number : 88 Question Id : 4165299233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
| 15, _ :
Let fix) = E{smk x+ cost x) for

k=1,2, 3,... Then for all x € R, the value of
fa(x) — f; (x) is equal to
Options: .
1
12
41EE292E5290,
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1

41652936391, 12
1
4
41652936392,
5
41652936393, 12

Question Number : 88 Question Id : 4165299233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
HAk=1,2,3, ... & fog

f(x)= %[qu x + cos® x)
@\ x e R F TG, £ (x) — £ (x) 1 HE TR
%
Options: _

1
41652936390 12

1

T $

41652936391, 12 K@
S
S

1 $\\\

t $
41652936392,

5
41652936393, 12

Question Number : 89 Question Id : 4165299234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In a triangle, the sum of lengths of two sides
is x and the product of the lengths of the
same two sides isy. If -cl= i, wherecis
the length of the third side of the triangle,
then the circumradius of the triangle is :

Options:
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L™

4165259362394,

i .
L..-J'1| 2

4155259362355,

Si<

416552936356,

416525936397,

Question Number : 89 Question Id : 4165299234 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

R 6 &1 NS HI TEE 1 [UAE y E
Afq x2 ﬁ=y,ﬁﬁcﬁlﬂﬁ?€lﬁﬁ!ﬁ ol =i
TR €, 79 A & ufige i e

Options:
£
416529363594, 3
N
c S\
o &Z,
3 Q
41652936295, &
i @
J3
416529336396,
3
—1
2
41652936397,

Question Number : 90 Question Id : 4165299235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If gis false and p ~ q < » ris true, then which
one of the following statements is a
tautology ?

Options:

41652936398, P T
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diEcoe36Ras PYT

41652926400, ABATY v

41650936401 (PVI) > (par)

Question Number : 90 Question Id : 4165299235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Aqfe q IHAT TS p / q <> r TA T, o Fr=A
¥ FH W FYA UF TAEH (tautology) 7

Options:

41652036308, P

4iE50936090 PYT

41552836400

41650936401 (PVT) > (par)
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